Tav. 01 PARAURTI ANTERIORI
y FRONT BUMPERS

Nordix - Mini Exp - Rookie
Neos - Kid

Rookie EV

q In vigore dal - Effective from 15-12-2021 E




Rif. FRONT BUMPERS ¥

Description Tax included
A (0002.00DK 780N Y- 507/CIK 507 upper front bumper Cik-Fia 21,670
A [0002.00D 70YhN YN~ M6-M10/CIK M6-M10 upper front bumper Cik-Fia 21,670
B  |0002.04BK 7aYkN'yN'~/07 507/CIK 507 lower front bumper Cik-Fia 21,670
B [0002.04B 7AYhN YN-/0F M6-M10/CIK M6-M10 lower front bumper Cik-Fia 21,670
C 10002.00B FAVEN' YN - M4 M4 upper front bumper 19,690
D |0002.03 TAYEN YN'—-/AF M4 M4 lower front bumper 17,380
E |0002.ABAK FAYEA' Y- MK20 MK20 upper front bumper 17,380
E [0002.ABA 7000 Y- M8 M8 upper front bumper 17,380
F  |0002.BA3K JRYMN YN -/A7 MK20 MK20 lower front bumper 17,380
F  |0002.BA3 VAN YN'-/0F M8 M8 lower front bumper 17,380
G |0002.A0A Front bumper for Nordix - Mini Exp - Rookie - Neos - Kid 0
H |0002.A0AH Front bumper for Nordix - Mini for USA Finland and Russia 0
1 [0002.A0B 7avkN yN'—/0F M5/NEOS Neos lower front bumper 17,380
J  |0002.BA1 7AYkA'YN'~/A7 M5/ROOKIE EV Rookie EV / UK lower front bumper 17,380
K ]0002.CB 7EYEA' Y= MICRO Front bumper for Micro 17,380
L (0126.B0 709k YN -0F7 7 b=} M5 Threaded plate M5 506
M [V.TCE5X25 497 K Wb 5X25 TCEIl screw 5x25 mm 44
N |V.TCE5X30 TV—%nyY4—V%4y7"K b 5x30 TCEI screw 5x30 mm 44
0 [R.P.5X11 79Y4— D.5x11x1mm Washer @ 5x11x1 mm 1
P D.M5 Ty M5 Nut M5 11
Q [0301.c1 TAYIN YN =TV E b2 Bracket for front bumper support Red 1,430
Q |0301.CN Bracket for front bumper support Black 1,430
R |0301.C2 TV YN =249 AN = Fixing lever for front bumper 4,180
S |V.TPSCEI6X20 #56 W+ 6X20 TPSCEI screw 6x20 mm 44
T ]0033.00 At'yI9Y%— M6/ALU Biconical AL washer @ 6 mm 264
U |R.P.6X12 DyY4— D.6,3x12,5x1mm Washer @ 6,3x12,5x1 mm 22
V  |D.M6A.B. wn70y9+yMe (F4AY) A.B. nut M6 22
W |V.TCE6X20 $yy7' K ME 6X20 TCEIl screw 6x20 mm 33
X [V.TCE6X30 F497°H Wb 6X30 TCEI screw 6x30 mm 44
Y ([V.TB6X30 #'4YAHY1- 6X30 TB screw 6x30 mm 99




